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Question 1
Question Type: MultipleChoice

The typical scope of an iteration of the service-oriented analysis process is one business process.

Options: 
A- True

B- False

Answer: 
A

Question 2
Question Type: MultipleChoice

Which of the following is an expected result from one iteration of the service-oriented analysis process?



Options: 
A- one or more service architectures

B- one or more service inventory blueprints

C- one or more service candidates

D- None of the above.

Answer: 
C

Question 3
Question Type: MultipleChoice

Which phase of the service delivery lifecycle is comprised of information gathering steps and a service modeling sub-process?

Options: 
A- service-oriented analysis



B- service development

C- service-oriented design

D- None of the above

Answer: 
A

Question 4
Question Type: MultipleChoice

Which project delivery approach most likely will result in the delivery of a traditional silo-based application?

Options: 
A- top-down

B- meet-in-the-middle

C- bottom-up

D- All of the above.



Answer: 
C

Question 5
Question Type: MultipleChoice

The top-down approach is not recommended when:

Options: 
A- an organization wants to avoid silo-based application development

B- services are being built for deployment on the Web

C- the investment in the required up-front analysis effort introduces risk to the organization

D- None of the above.

Answer: 
C



Question 6
Question Type: MultipleChoice

The Claims Solution project is responsible for delivering a service composition comprised of seven services. The project team is

following a meet-in-the-middle approach whereby a service analyst and two service architects will continue carrying out a top-down

analysis effort after the initial set of services is designed and developed. What will happen after the top-down analysis completes and the

final service candidates are noticeably different from the services that have already been delivered?

Options: 
A- The previously delivered services remain in use until they can no longer fulfill their functional requirements, at which point they are

retired and replaced with new services based on the final service candidates.

B- The previously delivered services are later redesigned and redeveloped as per the final service candidates in order to bring the

services in the Claims Solution in alignment with the target service inventory blueprint.

C- The previously delivered services are not changed and the final service candidates serve as a constant reminder as to how they

should have been designed.

D- None of the above.

Answer: 
B



Question 7
Question Type: MultipleChoice

In a service-oriented analysis process, business and technology experts are encouraged to collaborate hands-on so that they can jointly

model service candidates.

Options: 
A- True

B- False

Answer: 
A
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